ORDER: AWARD BID ON OLD TAYLOR ROAD EMERGENCY STATE AID PROJECT SAP 36(26)M TO WILCO, INC OF MADISON, MS., IN THE AMOUNT OF \$231,910.00.

Motion was made by Robert Blackmon, duly seconded by Chad McLarty, to award the bid on State Aid Project SAP 36(26)M to Wilco, Inc. of Madison, MS in the amount of \$231.910.00 as the lowest and best bid.

The vote on the motion was as follows:

Supervisor Mike Pickens, voted yes Supervisor Jeff Busby, voted yes Supervisor Robert Blackmon, voted yes Supervisor Chad McLarty, voted yes Supervisor Mike Roberts, voted yes

After the vote, President Busby, declared the motion carried, this the 6^{th} day of July, 2015.

Jeff Bushy, President

Board of Supervisors

Sherry Wall, Chancery Clerk

State Aid Project No. 5AP-36 (26) A	1
ORDER OF LAFAYETTE COUNTY BOARD OF SUPERVISORS AWARDI	NG
CONTRACT AND ESTABLISHING PROJECT FUND FOR THE ABOVE NUMBERED PROJECT	er e
WHEREAS, said Board has on this the 6 day of July, 20/5 received a opened bids on said project, and	
WHEREAS, We, the Board of Supervisors of County, Mississippi, he advertised for bids on the above numbered project and proof of publication of said advertisement having the filed with the Clerk of the Board of Supervisors in the manner and form required by statute, and	naving been
of Manuson Ms in the amount of \$ 231,910 =	
of	 -'
NOW, THEREFORE, IT IS HEREBY ORDERED by the Board of Supervisors of County that the contract be awarded to Willes, Inc.	77E
subject to approval of the State Aid Engineer, and that the President of the Board be and he is hereby authorised the state Aid Engineer, and that the President of the Board be and he is hereby authorised to approval of the State Aid Engineer, and that the President of the Board be and he is hereby authorised to approval of the State Aid Engineer, and that the President of the Board be and he is hereby authorised to approval of the State Aid Engineer, and that the President of the Board be and he is hereby authorised to approval of the State Aid Engineer, and that the President of the Board be and he is hereby authorised to approval of the Board be and he is hereby authorised to approval of the Board be and he is hereby authorised to the Board be and he is hereby authorised to the Board be and he is hereby authorised to the Board be also be a	orized
to execute the contract with the Contractor after a satisfactory performance bond has been furnished.	
IT IS FURTHER ORDERED that the project fund in the amount of \$ 243.500 (including 5% contingencies) and an additional amount, limited to 12% of contract construction cost, to co	
engineering services of \$ 27,800 , be established by transferring a total of \$ 271300	over
S 271 300 State Aid funds from LAPAYETTE County's State Aid fund to a	1
project fund and earmarked for this project. The State Aid Engineer is hereby authorized to take such acti necessary to effectuate this transfer. In case of unexpected overruns in costs which would increase the cos	ion as t of
the project beyond the amount of the project fund established herein, the State Aid Engineer is further	. 01
authorized to transfer additional funds, limited to 10% of the construction costs, to the project fund as are needed to pay such overruns in final construction costs.	
needed to pay such overtures in final constituetion costs.	
IT IS FURTHER ORDERED that the President of the Board is hereby authorized to execute	
Supplemental Agreements to the original contract which do not increase the cost of the project in excess of project fund authorized herein. It is also ordered that the State Aid Engineer be furnished a certified copy of	the of this
order.	
President, Board of Supervisors	
[LAPAYETT Coun	ty
This is to certify that the foregoing is a true and correct copy of an order passed by the Board of	
Supervisors of County, Mississippi, entered upon the minutes of said Board of	
Supervisors, Minute Book No, Page No, same having been adopted at a meeting of said	i
Board of Supervisors on the day of July 20,15	
Clerk of Board of Supervisors	
LAFAYETTE Count	v
	,

(Rev. 1-14-98)

Office of St	Office of State Aid Road- SAP-36 (26) M	- 36 (26) м			***I.DW Bid***	id***		
i.	County				231,910.000		274,685.00	
District Eng	Engineer- Jerry Gilliland	iland	Preliminary		Wilco, Inc.		McBrideCo, LLC	
6-Jul-2015			In1	Extended	Trav. Cas. & Sur.	Co. of Am.	Granite Re, Inc.	
ROADWAY								
S-200-A	MOBILIZATION	1.000 ل	12,500,0000	12,500.00	12,910,0000	12,910.00	45,000,0000	45,000,00
S-201-A	CLEARING AND GR	1.000 I.S	5,000.0000	5,000.00	6,400,0000	6,400.00	7,500,0000	7,500.00
5-203-A	UNCLASSIFIED EXC	250,000 CY	30.0000	7,500.00	8,0000	2,000.00	35,0000	R,750.00
S-203-E1	BORROW EXCAVAT	300.000 CY	15.0000	4,500.00	19,0000	5,700.00	25,0000	7,500,00
S-601-8	CLASS "B" STRUCTI	4.500 CY	500.0000	2,250.00	4,750,0000	71,375.00	2,500.0000	11,250.00
S-602-A	REINFORCING STEE	400.000 LB	2.0000	800.00	2.5000	1,000.00	7.5000	3.000.00
3-603-PE	24" CORRUGATED	20.000 LF	40.0000	800,00	100.0000	2,000.00	45.0000	900.00
S-617-A	RIGHT-OF-WAY MI	7.000 EA	125.0000	875.00	200,0000	1,400.00	250.0000	1.750.00
S-618-A	MAINTENANCE OF	T.000 LS	3,000.0000	3,000.00	5,100.0000	5,100.00	15,000,0000	15,000.00
S-618-B	ADDITIONAL CONS	0.000 SF	10,0000	0.00	10,0000	0.00	10.0000	0.00
S-631-A	FLOWABLE FILL	135.000 CY	150.0000	20,250.00	175.0000	23,625.00	200.0000	27,000.00
5-802-A	PERMANENT STEEL	600.000 SF	130.0000	78,000.00	56.0000	33,600.00	68.0000	40,800.00
TOTAL ROADWAY				135,475.00		115,110.00	ı	168,450.00
EROSION CONTROL	=							
5-212-8	COMMERCIAL FER	0.060 TON	1,500.0000	90.00	3,000,000	180.00	10.000.000	600.00
S-212-F	AMMONIUM NITR	0.010 TON	1,500.0000	15.00	9,000,0000	90.00	20,000,0000	200.00
S-214-A	SEEDING	0.100 AC	2,000.0000	200.00	3,000.0000	300.00	10,000.0000	1,000.00
S-215-A	VEGETATIVE MATE	0.300 TON	400.0000	120.00	1,000.0000	300.00	3,500,0000	1,050.00
5-226-A	SOLID SODDING	100.000 SY	10.0000	1,000.00	7.5000	750.00	20.0000	2,000.00
S-233-A	TEMPORARY SILT F	200,000 LF	5.0000	1,000.00	4.0000	800.00	10.0000	2,000.00
\$-815-A	LOOSE RIPRAP, 300	390.000 TON	45.0000	17,550.00	48.0000	18,720.00	70.0000	27,300.00
S-815-E	GEOTEXTILE UNDE	105.000 SY	3.0000	315.00	2.0000	210.00	8.0000	840.00
S-815-E	GEOTEXTILE UNDE	2910.000 SY	3,0000	8,730.00	2.0000	5,820.00	3.5000	10,185,00
907-237-0	WAITES, 20"	50,000 LF	8.0000	400.00	9,000	450.00	20.0000	1,000.00
907-819-A	GABIONS	364,000 CY	165,0000	60,060.00	245.0000	89,180.00	165.0000	60,060.00
TOTAL EROSION CONTROL	ONTROL			89,480.00		116,800.00	ļ	106,235.00
TOTAL BID			ĺ	224,955.00		231,910.00	1	274,685.00
DIFFERENCE		•		_		0.00		0.00
							i	
PERCENTAGE OVER\(UNDER).	JER\ (UNDER):					3.09*	11000	22.11%
Approved;	May 1	M. Mil	hal		· · · · · · ·			
	Jerry Cil Mland, P.E.,	P.E., District	: Engineer		· · · · · ·			
	\							

يها فالشد المرتهرية والداراء اراء المعمل بالمناسمان المعمد الماديات

lafayette County District Engineer- 6-Jul-2015 ROADWAY S-200-A CLEARI S-203-A UNCLAS S-203-E1 BORRO S-601-B CLASS' S-602-A REINFO S-603-PE 24"CO	lafayette County District Engineer- Jerry Gilliland 6-Jul-2015 ROADWAY S-200-A MOBILIZATION 1.000 S-201-A CLEARING AND GR 1.000 S-203-A UNCLASSIFIED EXC 250.000 S-203-E1 BORROW EXCAVAI 300.000 S-601-B CLASS "B" STRUCTI 4.500 S-602-A REINFORCING STEE 400.000 S-603-PE 24" FORBING ATTO 20.000	1.000 LS 1.000 LS 1.000 CY 300.000 CY 4.500 CY 400.000 LB	524,192.00 AHS Const. Co. LLC Check 95,000.0000 45,000.0000 100.0000 120,0000 3,000.0000 7,5000	M 48 A1 A 10	538,552.10 White Const. & A Suretce Ins. Co. 195,925.0000 15,000.0000 28.5000 38.5000 850.0000	& Absociates Inc. Co. 195,925.00 000 15,000.00 000 7,125.00
et Engli 2015 AY		1.000 LS 1.000 LS 1.000 LS 250.000 CY 300.000 CY 4.500 CY 400.000 LB	AHS Const. Co. LL Check 95,000.0000 45,000.0000 100.0000 120.0000 3,000.0000 7.5000		5 6 6 6 5 .	Associate
Λγ 2015		1.000 LS 1.000 LS 250.000 CY 300.000 CY 4.500 CY	Check 95,000.0000 45,000.0000 100.0000 120.0000 3,000.0000 7.5000		5 8 8 8 B	, page 16
Ą	MOBILIZATION CLEARING AND GR UNCLASSIFIED EXC BORROW EXCAVAT CLASS "B" STRUCTI REINFORCING STEE ZA" CORRI IGATED	1.000 LS 1.000 LS 250.000 CY 300.000 CY 4.500 CY		95,000.00 45,000.00 25,000.00 36,000.00	5 2 2 Z 1	
	MOBILIZATION CLEARING AND GR UNCLASSIFIED EXC BORROW EXCAVAT CLASS "B" STRUCTI REINFORCING STEE 74" CORRI IGATED	1.000 LS 1.000 LS 250.000 CY 300.000 CY 4.500 CY 400.000 LB	95,000.0000 45,000.0000 100.0000 120,0000 3,000.0000 7,5000	95,000.00 45,000.00 25,000.00 36,000.00 13,500.00	195,925.0000 15,000.0000 28.5000 38.5000 850.0000	
	CLEARING AND GR UNCLASSIFIED EXC BORROW EXCAVAT CLASS "B" STRUCTI REINFORCING STEE PARTICORRI IGATED	1,000 LS 250,000 CY 300,000 CY 4,500 CY 400,000 LB	45,000,0000 100,0000 120,0000 3,000,0000 7,5000	45,000.00 25,000.00 36,000.00 13,500.00	15,000.0000 28.5000 38.5000 850.0000	<u>_</u> _
	UNCLASSIFIED EXC BORROW EXCAVAT CLASS "B" STRUCTI REINFORCING STEE 74" CORRIGATED	250.000 CY 300.000 CY 4.500 CY 400.000 LB	100.0000 120.0000 3,000.0000 7,5000	25,000.00 36,000.00 13,500.00	28.5000 38.5000 850.0000	
	BORROW EXCAVAT CLASS "B" STRUCTI REINFORCING STEE ZA" CORRIGGATED	300.000 CY 4.500 CY 400.000 LB	120,0000 3,000,0000 7,5000	36,000.00 13,500.00	38.500 0 850.0000	
	CLASS "B" STRUCTI REINFORCING STEE 24* CORBI GATEN	4.500 CY 400.000 LB	3,000.0000	13,500.00	850.000	
	REINFORGING STEE	400.000 LB	7.5000	3,000.00	5000.000	
	24* CORRIGATED	1			-	
	1 6412662	20.000 LF	150,0000	30.00.00	0000 E8	
S-617-A	RIGHT-OF-WAY MJ	7.000 EA	150 0000	1 050 00	000000	
	MAINTENANCE OF	1 000 15	13 800.0000	onoca'r	0000051	1,050.00
	ADDITIONAL CONS	D 000 SE	10,000	00.00	0000'525'77	21,3
	FLOWABLE FILL	135.000 CY	2000.00	A0 500 00	9000.01	
\$-802-A	PERMANENT STEEL	600.000 SF	65,0000	39,000,00	טיטים: פבד	25,730.00
TOTAL ROADWAY				313,550.00		367,640.00
EROSION CONTROL						
S-212-8 (COMMERCIAL FER	0.060 TON	750.0000	45.00	5 000 0000	300 8
	AMMONIUM NITR	NOT OTO.0	750.0000	7.50	5,000,000	EO 00.
5-214-A S	SEEDING	0.100 AC	10,000,0000	1,000,00	4 800 0000	20.00
5-215-A \	VEGETATIVE MATE	0.300 TON	1,000,0000	300.00	9000 000 E	90.08+
S-226-A S	SOLID SODDING	100.000 SY	15,0000	1.500.00	35.000	3 500.00
S-233-A T	TEMPORARY SILT F	200.000 LF	20.0000	4.000.00	6 5000	מסיסטונים
S-815-A L	LOOSE RIPRAP, 300	390,000 TON	200.0000	78,000.00	0009 65	23.00.00
S-815-E C	GEOTEXTILE UNDE	105.000 SY	10.0000	1.050.00	6.1000	540 50
	GEOTEXTILE UNDE	2910.000 SY	10.0000	29,100.00	3.000.5	8 730 00
•	WATTLES, 20"	50.000 LF	20.0000	1,000.00	25,0000	1.250.00
907-819-A G	GABIONS	364.000 CY	260.0000	94,640.00	358.4000	130,457.60
SO INT. ENCORON COMINGE	TACE			210,642.50		170,912.10
TOTAL BID			A. Carriero	524,192.50		538,552.10
DIFFERENCE)			0.50		9
		1	\ / 		* 1	6.00
PERCENTAGE OVER\(UNDER)	R) (UNDER);			133.02%	gun 100ggang .	139.408
Approved:	h	M. Kul				
u	Jerry Grilly and,	P.B., Distric			-	